MS Development Studies SAMPLE TEST PAPER
Sociology

Total Questions: 100 Total Time: 90 minutes

The Entrance Test will comprise of on-line multiple choice questions (MCQs). You will select
one answer from five choices. Total time duration is 90 minutes. 30 questions will be asked from
English and Math sections each and 40 questions will be subject specific.

The Entrance Test will comprise of on-line multiple choice questions (MCQs). You will select
one answer from the five choices given.

1- English (30 questions)
2- Math (30 questions)
3- Subject Specific (40 guestions)

SECTION A- ENGLISH

Choose the correct answer for the underlined word:
Q1. At this moment their eyes is on the sky

a) are

b) were

C) correct as is

d) was

e) have
Correct Answer (a)

Q2. The word abundance means:

a) little

b) plenty

¢) modest

d) insufficient

e) scarce Correct

Correct Answer (b)



Section B- MATHEMATICS

Q1. A Karachi city police department is contemplating the purchase of an additional petrol car.
Police analysts estimate the purchase cost of a fully equipped car (subcompact, but high
powered) to be Rs 18,000. They also have estimated an average operating cost of Rs. 0.40 per
kilometer. What are project total costs if the car is driven 50,000 miles during its lifetime?

a. Rs 58,000

b. Rs 48,000

c. Rs 38,000

d. Rs 40,000

d. None of the above

Correct Answer (c)
Q2. A multiple-choice quiz has 200 questions, each with 4 possible answers, of which only 1 is

the correct answer. What is the probability that sheer guesswork yields from 25 to 30 Correct
answers for 80 of the 200 problems about which the students has no knowledge?

a. 0.1090
b.0.1196
c. 0.1086
d. 0.1076

e. None of the above

Correct Answer (e)

SECTION C- SUBJECT SPECIFIC

Q1. Who has written the book "Das Kapital”

(a) Lewis Morgan
(b) Max Weber
(c) Karl Marx

(d) August Comte
(e) None of these

Correct Answer (c)



Q2. The intellectual movement which gave rise to modernity is known as:

(a)The awakening

(b) The rebirth

(c) The illumination
(d) The enlightenment
(e) None of the above

Correct Answer (d)

Q3. In the division of labour in the society which one of two types of solidarity identified by
Durkheim:

(a) Mechanical and Organic Solidarity
(b) Mechanical and Physical Solidarity
(c) Physical and Spiritual Solidarity
(d) Physical and Organic Solidarity

(e) None of these

Correct Answer (a)

Q4. Society as a complex organization of parts that functions to fulfill the requirement and to
promote the needs of the whole, is a concept of:

(a) Structural Functionalism

(b) Interaction School of thought
(c) Phenomology

(d) None of these

(e) All of above

Correct Answer (a)



